
Math 1B (8:30AM 4 March 2020
Mr

• ( X right

Ii
.in#In.En.riy-=MiXitmrXztm,x,-

M
,
t th

,
t Mz

g-
= myth

M
,

t m
,

t My



I =

MXitmXztm,X# -

Mitmrtm ,
Y

= M¥873
- - -

l
M
,

t m
,

Tmz

kid
.

✓

' y=fCH=
6-2×1

a

:¥i:÷¥¥÷:÷÷i

:*
.

. . .

' I l
go ,

region is ivea by

x ! !!In ¥694cmHow do I find I ? -

Divide shape into vertical rectangle
,

If6=2that means a single

* ÷i÷i:m
't:c

.in#::..ootmasTofeYaThJ

has mass 2 grams .

rectal !
Area
density

* %¥E::i: . six.E¥i÷.is?:i.:IIx--Ei:--4stI--
① I ' '

\ the"
density of a region o

-

- Ff÷



mean¥
:i÷÷÷¥÷÷r÷¥÷÷r

=
So 56

- try
'

My CIffy! !

9-
-

-

Figo
an
.

'
= Ii =-48--2



acts

g CHEW
for aEXEB

•y=t4#
find the center of mass

Ivf of the regionI aEXES
"

y
-

-ga) x
-
- b

ga, # Etat
x

-

- a

•y=tG#µ¥¥¥im*¥i÷÷:X .

F- 6

x
-

- a

¥¥:¥:¥*÷:÷÷÷.

µ

"

F- 6

x . a q=¥¥D-GMdx
Si Gal - gcxlldx

Teexeni
' ' a'If

gcykxetgl ⇐ Find

Feb Gig )
- y -

- a


